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cHAPTER TEN
True-False:

L. U] Interest expense on installment nofes is calculated each period as the interest rate multiplied by the :
beginning-of-period principal balance. (Ouestion asScriey ann Udl W od @ At

) Bondholders do not share in either management or earnings of the issuing corporation.

(1) Bondholders are creditors of the issuing corporation.

(1) If bonds are sold at par value, the entry to record the sale has a debit to Cash and a credit to Bonds Payable.

e s el

Investors will be willing to pay more than Eelxrb(buy at a premium) for bonds when the market rate of interest is
higher than the contract rate of interest, 1 SeounT

i
@) If the market rate of interest is 12%, it is 4% semiannually. lo 2 6’2—? X &f (2

7. (-T) The straight-line method of amortizing bond premium allocates an equal portion of the premium to each interest
period.

: - e condira)

8. (:F) Callable bonds are bonds that can be redeemed at the option of the investor. ¢} i (»,_'

1

9. () The debt-to-equity ratio is computed by dividing total liabilities by total equity.
10. (F) The carrying amount of a bond payable decreases each year by the amount of discount amortized that year.

Multiple Choice:

-ou are given several words, phrases, or numbers to choose from in completing each of the following statements or in
answering the following questions. In each case select the one that best completes the statement, or answers the question,
and place its letter in the answer space provided.

1. b On December 31, the interest payment date, the carrying value of Taylor Company's issued bonds is
$106,000. The bonds have a par value of $100,000. On January 1, Taylor buys and retires the outstanding
bonds. The market price on this date is 103.5. The entry to retire the bonds includes a:

a. $6,000 credit to Premium on Bonds Payable.

b. 3,500 debit to Loss on Retirement of Bonds.  [Rpngl¢ Pougabls- 100000
c. $3,500 credit to Gain on Retirement of Bonds. Pe i) i B b.O00
a $2,500 credit to Gain on Retirement of Bonds. Cag}q (_ .[ 035 iny gw‘) {035Co

E e. $100,000 credit to Cash. | 2 amn o0 IZ&‘J‘:I- Y a 7 S0 '
2. Unsecured bonds that are supported by only the general credit standing of the issuer are called:
a. Callable bonds
b. Sinking fund bonds
c. Serial bonds
d. Coupon bonds

ebcntures



f YHB A company issued 5-year, 5% bonds with a par value of $100,000. The company received $95,735 when
the bonds were issued. Using the straight-line method of amortizing discounts, the company’s interest
expense for the first semiannual interest payment is:

@m,gzs.soﬁ_

7 $5,853.00

c. $2,500.00 C 0sh Int

d. $5,000.00 - : Py @XT= :

e. $9,573.50 " lopOopk SIXble =  ZSTO

Short problem: A.mDA— B&g&eo{‘i 265D

Prepare journal entries for the following transactions:

2017: i 4265 - 10 Pemd& & 702b.D
Jan. 1 Issued a 10-year, $1,000,000 bond with a stated interest rate of 8% at 99.
June 30 Made first semi-annual interest payment.

December 31 Made second semi-annual interest payment.

Date Description Dr. Cr.

2017
.

= Cash (o0 @0y 997) 49 0000

MSconton Bondl 0,000

B onds Doualle | 1,000 (00

June 30 | ﬂ '}_Ueg.‘. E\(D Q,}“’?{E 40 i Sﬁcr)

Ok
3

D\‘SCOU’)' on 8063 (0mp3 20p¢1]

osh (oo 0oy § Ixbhe) 400

Dec. 31

Sexe

Total amount of interest expense over the life of the bond??7? Show
computation

20500 X 20 per = 310000



CHAPTER ELEVEN

True-False:

e following statements are either true or false. Place a (T) in the parentheses before each true statement and an (F)
vefore each false statement.

1. T]) Par value has nothing to do with a stock's worth. _ )

2 (T)"Final authority in the management of corporation affairs rests with its board of directors.
3. f‘P"The life of a corporation may be unlimited.
4

(F,',S.To transfer and sell his or her interest in a corporation, a stockholder must secure permission from the
corporation's secretary. ;
? AR hired by BaD.

5. (5{'.:) The chief executive officer of a corporation is usualfy elected by the stockholders at one of their annual meé ings.
6. (T)“I‘ he president of a corporation is responsible to its board of directors for management of the corporation's affairs.
7

! (F) A small stock dividend should be recorded by capitalizing retained earnings equal to the book value of the stock
to be distributed. o valuee.,

8. (g In most states, a corporation must have current net income in order to pay a cash dividend.
9. ("3‘) Since a stock dividend is payable in stock rather than in assets, it is not a liability of its issuing corporation.

10. (7-)-A stock split has no effect on total stockholders' equity, the equitie;:. of the individual stockholders, or on the
balances of any of the contributed or retained capital accounts. ;\Jp d &= DIV IQ el __S':"’?_ pAs

11. (:-F) Dividend yield is calculated by dividing market value per share by the dividend per share. ~ e

12. (T)A company with common stock having a market'value of $45 per share and earnings of $5 per share has a
price-earnings ratio of 9. 455 = g

3. (—-’-7‘ A cash dividend reduces a corporation's cash and its stockholders' equity, but a stock dividend does not affect
either cash or tofal stockholders' equity.

14. €7) For companies with simple capital structures, earnings per share is calculated by dividing net income minus
preferred dividends, if any, by the weighted-average number of common shares outstanding.

15. Hadley Corporation stock has a current market value of $16 and is expected to pay cash dividends of $1.20 during
the next year. The expected dividend yield of Hadley stock is 7.5%. v S N
_ : DIV prs silie _ [ 20 75
Multiple Choice: Y)ee = Je T

You are given several words, phrases, or numbers to choose from in completing each ‘of the following statements or in
answering the following questions. In each case select the one that best completes the statement or answers the question
and place its letter in the answer space provided.

Z li 1. The difference between the par value of stock and its issue price when it is issued at a price above par
value is the:

£ o e
Paid-in capital. |1\ €X (£S5 o7 ,'H'W

a.

b. Stock dividend.

c. Minimum legal capital. ; | 4 p
d. Premium on stock, ( wold 0Us0 he g “'off’h‘ﬂ A fl
e. Discount on stock. ’



t 2L 000 13X 00= Tper ok x 3008
Vector Corporation has outstanding 3,000 shares of $100 par value, 7% cumulativ&f preferred stock and

10,000 shares of $10 par value common stock. Dividends have not been paid on the preferred stock for the
current and one prior year. The corporation has recently prospered, and the board of directors has voted to
“pay out $49,000 of the corporation's retained earnings in dividends. If the $49,000 is paid out, how muc.

should the preferred and common stockholders receive per share? A’\/ﬂl Lr_q OOO

@514.00 per share preferred, $0.70 per share common. / .
b. § 7.00 per share preferred, $2.80 per share common. N Ay & P% \

c. $12.25 per share preferred, $1.23 per share common.

d. § 1.14 per share preferred, $4.56 per share common. |OBXTS % & SO0
e. $16.33 per share preferred, § -0- per share common. 2 1000 Jast L
s 5 b Z lora thid yv
Stated value of stock is: : <tk PR
tated value of stock is: ' ~J N'M,#ID.W = 10 6;)0& RS
ion

g AL
a. One share's portion offﬁe Issuing corporation’s net assets as recorded in the corporation's accounts.

@An arbitrary amount assigned to stock by the corporation's board of directors which is credited to the
stock account when the stock is issued.

c. The difference between the par value of stock and its issue price when it is issued at a price below or
above par value.

d. The market value of the stock on the date of issuance.

e. The price at which a share of stock can be bought or sold.

The statement of stockholders' equity is:

a. A financial statement that discloses the inflows and outflows of cash during the period."
b. A financial report showing the assets, liabilities, and equity of an enterprise on a specific date."

c. A financial statement showing revenues earned by a business, the expenses incurred in earning the
revenues, and the resulting net income or net loss.

A financial statement that lists the beginning and ending balances of each equity account and describes

all the changes that occurred during the year.
e. None of the above.

On December 15, RTA Corporation declares a $.75 per share cash dividend on its 4,000 outstanding
shares. Payment date is January 15. On December 15, RTA should make the following entry related to the

cash dividend: —_—
a. Cash Dividends Declared 3,000
Retained Earnings 3,000
b. Common Dividend Payable 3,000
Cash Dividends Declared 3,000
c. Retained Earnings 3,000
Cash Dividends Declared 3,000

@ Retained Earnings 3,000

Common Dividend Payable 3,000



Rule 4w T/S

In ¢ ot o

~hort problems:

On August 10 Mainline Corporation purchased for cash 2,000 shares of its own $25 par value common stock &t $2
share. On October 3 it sold 1,000 of the shares at $30 per share. On November 4 it sold the remammg 1,000 shares at $20
per share. Prepare the journal entries below to record the purchase and sales of the stock.

DATE ACCOUNT TITLES AND EXPLANATION ™ | P.R. DEBIT CREDIT
Aug 10 [TV E€LQUNT SRV (Zooo 2T ) 54 00—~
Casn ) 541000
Purchased 2,000 shares of treasury stock,
i . —
o3 |G (1000 20 ) 3 Q|00 ~
TYeashrysSrnds 27y
Pl ~THoOGLE e _'_"'_f';' oe 2l
Sold 1,000 shares of treasury stock. _n,, /
/
Nov.4 |CARH (1000 K 20 ) 210N [—
Ol - }:/5 ] slelE] P4
R;E e - 2 :__" "‘ﬂ'il' OC‘G
Jreaswvid Steele (100027 ATO0C
Sold 1,000 shares of treasurystock. 1

vse PICT/

Lt






PRE-QUIZ- CHAPTER 12
PROFESSOR Johnson

CHAPTER TWELVE

INSTRUCTIONS: Selected changes in various corporate accounts during =z fiscal year are described below. By the

use of x's, indicate the section of the statement of cash flows (indirect method) in which the change is reported.

If the item described is not reported, so indicate.

Name

< J:C }n: aEe's

Section of Statement of Cash Flows

Operating | Investing | Financing | Non-cash For
Activities | Activities | Activities | Activities | Scoring
0. Merchandise Inventory—net increase ...............oeocveoen ... X Ol -
1. Retained Earnings—debit for stock dividends distributed ... L/". 1.
2. Common Stock—credit for issuance at par for cash ............ 4 7 2.
3. Bonds Payable—debit for redemption of bonds ................... - - N
4. Office Supplies—net decrease ............... \A,=-"-l-‘- 4.
5. Accounts Receivable—net decrease ..................o..ooo......_. v = 6.
6. Retained Earnings—debit for net 1085 ... e B._
7. Purchased stock in another company R o - T~
8. Bonds Payable—credit for issuance for cash ...................... Ve 8.
9. Retained Earnings—debit for cash dividends paid .............. §0 T 9._
10. Equipment—credit for items sold ...............coooocoovvoooveo vt s 10 -
11.  Accumulated Depr. : iaﬂannguipmant_—debit for fully 0
depreciated i!em@ ............................................... e |1

NI .
1500
P[G‘u:%' [ius,f,f:hr:
WCA
(v

Dedveig © 1 CA
Wy CL.






OPERATING ACTIVITIES SECTION OF STATEMENT OF CASH FLOWS

INSTRUCTIONS: Selected data from various accounts during a fiscal year are presented below. By using x's, indicate whether each
of the items will be (1) added fo or (2) deducted from net income in arriving at cash flows from operating activities, using the indirect
methed. If the change is not reported in the determination of cash flows from operating activities, place an x in the Not Reported
column.

N
P - f . b R e |
PRSP /MO Cash Flows ffm OperatingpAghivities
Losses Added Deductea— |
- * CC,/A(C to Net from Net Not For
D{ GLU (o (SRS & cens Income Income Reported | Scoring
0. Stock dividends declared "1\-0"“ X D:——:
1. Depletion expense ......cccovceecceennne. Y v J PT—
2. Building and land purchased by issuing common stock ....... .U/ 2.
3. Decrease in prepald eXpenses ....q......ooovvieeesesesseneen . - 3.____
4. Depreciation expense on equipment .................co.coocoovevennns., e v
5. Decrease in dividends payable .........ccc.ccccooeo o, N S [
6. Common stock issued for cash ..., F0 Seci$—
7. Decrease in INVENtOMies ...........cccceeerrermnmnsinsssssesses oo L e
8. Decrease in accounts payable ..., ,,/ B. -
9. Dainonsale of B0 o s v -
10. Amortization expense on patents .......c..ocoovovovve e seessseisnnns ol 10.
11.  Gain on sale of long-term investments ........................o........ v T o~
12. Increase In accounts receivable ... v 12,

Fill in the blanks:
Complete the following by filling in the blanks.

1-2. What are the two alternative methods of reporting operating activities in the statement of
cash flows? i
P Yol N o

----------------------------- durrrrEEErEIsEEEEEEEEEsssssssissererTEEEEEa

20 Y 1 -1 ol .

3-8. Indicate the section of the statement of cash flows (indirect method) in which each of the
follnwm% would appear (answer operating activities, investing activities, or financing

activities -
3. Amortization of PAtent ............cceeeeeeceeeeciniensneeesseeseseeeeseeess hondh
4. Depreciation eXpense on eqUIPMENL ..........cccecvererereriesnsesrenns D
5. Sale of long-term investments, no gain or 10SS..........ccevvue.... .
6. Sale of equipment at book value .............ocoovveeeeenenen., I i 2
7. Redemption of bonds payable ...........c...cco.oooviiecrirecsrenn, .
8. Sale of PAtents ........cceeicceeiieeciiiieii e s bl 5
9. Cash dividends of $50,000 were declared during the year. Cash dividends payable were

$14,000 and 316,000 at the beginning and end of the ‘year, respectively. Cash dividends
paid during the year is $ 280N

D dands Zaraabic
j __?L" D ' ")E:') Fl 2
B i '\. e | | a4 L
.i";-_.u AL .‘ﬁggﬂ ) 5{_’_)] :*"1::1 C.J A
fre] L=
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10. The net income from operations was $80,000 and the only revenue or expense item not
affecting cash was depreciation expense of $42,000. What amount of net cash flows from
operating activities would appear in the statement of cash flows? § | 22 00D O

11. A corporation purchased and retired 5,000 shares of its $15 par common stock, originally
issued at par, for $35. Cash flows amounted to § 173,000

12. If a loss of $2,000 is incurred in selling (for cash) a fixed asset having a book value of
$25,000, the total amount reported as a cash flow in Investing Activifies is § £ 300

13. The $97,000 net income for the year included a charge of $8,000 for the amortization of a
patent. Excluding the effect of other adjustments, the amount of net cash flows fron
operating activities is §__{ 03, CQ0

14. A corporation issued $2,000,000 of bonds payable at 104. Cash 2 oG oD X (.0
flow was §_ 2,060,000 . 2' <0, X L. "

15. 25,000 shares of $10 par common stock were issued at $16. The total amount reported in
the cash flows from financing activities section of the statement of cash flows is g 40000

Short problem:

Based on the following information, compute the net cash provided by operating activities:
Net income $125,000

Depreciation expense .,:}» 10,000

Increase in accounts receivable \‘: 12,000 :;5“

Decrease in merchandise inventory 8,000

Increase in accounts payable 5,000

Dividends paid }@\{ f\.f r 5a.

Equipment purchased 15‘)0’6’;-‘ ﬁﬂ’\% -’-:‘ NV,

N
Tieoreasm in ancrisd [iabilites 411,000 '7

2 2
ANSWER: The net cash flow from operating activities {s: $ s S. Od

Nt Income : ¢ [25.000

© Deprecned) Epprndl )
i Mﬁm in Maachard (| § 000
hoeaste 1IN Actoundt P“ﬁ&bk 5,000

r ' Acconts flecewvable ( IZ,OOO>
ol ﬁﬁﬁ"fn Ao d Lok lfies. (11,0007
" .

NaAt-cooh FLow P@Wmd éy 0 Mﬁj 2.5.0C0
oy [ —— e
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